N &t Quiz 11 & MATH 211
ane.:

February 23, 2023

3 X 5
1. Expand and simplify: ({1 +a)®= lu‘?ao 5'\‘{0\"{— [0‘[‘6\2—*' o 0\. 'l"b L +/l /]

; o m e e -
AP ﬂ\)rsa—moa cloa®+s5al+ af
P 3 3 ! :

v 6 4 |

(Ts oo 5 1)

—_

vt () 130 2(0) () -7 ()
3!’) : (\%‘23 - (2}1?20*_ (vl\ ) { ‘Z}'+ ( 2>[n~121+(;)|n-§23+ s +(;:\")f°z“
= ()2 (D)2 () 2(g) e 2 ()

Quiz 11 $ MATH 211
Name: /'QI' UAM February 23, 2023
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2. Use the binomial theorem to show why 4" = 3° (g) + 3! (?) + 32 (g) + 33 (g) +.0 43" (Z)
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1.  Expand and simplify: (¢ +2) = \'CLZD"‘F L{CL'?. -I-C;O\'Z + ‘-’ Al + |OL2
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2. Use the binomial theorem to show why 3" = 2° (g) + 21 (?) + 22 (g) + 23 (Z) + 27 (z)
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